
Lecture 14 - March 4

General Trees, Binary Trees

Initializing a Generic Array
Recursive Definitions of (Binary) Trees
Trees in Java: Construction, Depth



Announcements/Reminders

• ProgTest1 results to be released by Friday, Mar 14
• Makeup Lecture (on ADTs, Stacks) posted 
• Assignment 3 (on linked Trees) released
• WrittenTest guide and example questions to be release
• Lecture notes template, Office Hours, TA Contact



General Trees: Recursive Definition
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General Trees: Ordered vs. Unordered Trees
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Generic, General Tree Nodes
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Instantiating Generic Structures in Java
class ArrayStack<E> {
  private E[] data;
  …
  public ArrayStack<E>() {
    
  }
}

class TreeNode<E> {
  private TreeNode<E>[] children;
  …
  public TreeNode<E>() {
    
  }
}

xS

-
data* ELIo] ;

data*(ETS) new Object [0] :
Asg > s = uAS>() :

S . push (23) ;X
S . push ("alan"); S

Tass-- wrappedwithin theNode

children ST: String-2 (INcEs[])
DT : String .

↓ RT: Objecti] new object[] ;
children= (TNET])Array : newInstance (this get Class() - 10) ;



Tracing: Constructing a Tree
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Tracing: Computing a Node’s Depth
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Binary Trees: Recursive Definition
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Deriving the Sum of a Geometric Sequence

Initial Term: I
Common Factor: r
Number of Terms: k
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